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a) f(a)=7

\
\"i’”i*iiiim. We don’t know the value of f(a).

b) fis differe
Right. Since
implies that f

Ntiable a¢ X=a.

the lim ag h approaches () of f(a+h)~i‘(a)/h =7, we know that f’(a)=7 which
is differentialpe at x=a,

¢)fis differentiabie for all reg] Numbers.

Wrong, We can only know thy; fis differentiap]e at x=g
d) fis increasing for x>0,
Wrong.
e) fis increasing
Wrong. Since b
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Problem below:  Need same help as above.  Why is the d/dx on the outside or to the left of the integral sign and what do you do with it?  Why is t^2 not t^3/3?  Why is it 1^2 d(1)/dx?  Then x^2(1) – 0?
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